SN MASTERBUILT MFG. Inc. MASTERBUILT ik
HITCH-HAUL® Side Rail Extension Kit VA S
PRODUCT WARRANTY Owner’s Manual
Qutdoor Products Assembly and Operating Instructions Outdoor Products
WARNING AND SAFETY INFORMATION

MASTERBUILT Mfg., Inc. warrants all parts of this HITCH-HAUL® Side Rail
product to be free from defects in material and workmanship within one year from
the date of purchase. Within this period, MASTERBUILT Mfg., Inc. shall correct
any defect by repairing or replacing defective parts of the equipment, or making
available the parts thereof, FOB Columbus, GA.

MASTERBUILT Mfg., Inc. shall not be obligated to repair or replace equipment
which has been repaired by others, abused, altered or misused. We further state
that we shall not be held liable for any losses due to neglectful use on the part
of the operator. Upon the expiration of such warranty, all liability shall
terminate. No other warranties are expressed or implied.

NOTE: Paint finish will scratch and chip under normal use, and therefore
carries no warranty.

To validate your warranty, please complete Warranty Information and mail to
Masterbuilt Mfg. Inc. or register online at www.masterbuilt.com
within 30 days of the date of purchase.

Visit Our Web Site @ www.masterbuilt.com

Model # HPHSEK

Iy e

* Never exceed receiver hitch manufacturer’'s tongue weight rating.
» The side rail is to be used as a stabilizing support only.

e All items MUST be tied down.

MASTERBUILT Mfg., Inc. « Check all hardware connections (nuts & bolts) before each use.

Attn: Warranty Dept.,

450 Brown Avenue,
Columbus, GA 31906

For more product information or to place orders, Call 1-800-489-1581 or
Write to: Masterbuilt « ATTN: Mail Order Department
* 450 Brown Avenue ¢ Columbus, GA 31906
www.masterbuilt.com

Rev. 2/01



Assembly Instructions for Side Rail Extension Kit

The side ralil kit has two “L” shaped arms that have reduced or smaller ends as shown
and two “L” shaped arms that are not.

Slide a reduced end into a non-reduced end forming one solid rail.

One rail will be mounted on one side of the HITCH-HAUL® and the other rail on the
other side.

The HITCH-HAUL® is pre-drilled for mounting.
Secure each rail using a 1/4” x 1/2” bolt and 1/4” nut (two per rail).

Once this is done, mount the side rail braces on each side of the open ends, using a
1/4” x 1 -1/2" bolt and nut.

Reduced End
“rr Shaped Arms

Side Rail
h BraCe
Long Bolts
o Here
*\J,g'w;
Short Bolts
Here
2 -“L" Shaped 2 - “L” Shaped
Arms with Arms without
Reduced Ends a Reduced Ends
— ’
2 - Side Rail
Braces L 12 - 1/4” Nuts

=0 4 -1/4"x11/2" Bolts
« 8 -1/4"x 1/2" Bolts

Other HITCH-HAUL® Products

HITCH-HAUL® Folding Tow Bar

The Masterbuilt range of Hitch-Haul® products can be
accessorized to suit your individual needs. Use this Folding
Tow Bar to tow a trailer or boat and still have your
Hitch-Haul® cargo carrier attached to your vehicle.

HITCH-HAUL® Web and Tail Light Kit

These two accessories, sold separately, round out your
Masterbuilt Hitch-Haul® for those camping, vacation or even
short trips. Your load will be safe and secure during your
journey.

For more information about these and Masterbuilt’s entire product range,
visit us at www.masterbuilt.com

WARRANTY INFORMATION

Name
Address
City State Zip

Location
Package Model # HPHSEK

Dealer Name

Date of Purchase

Reasons for purchasing your HITCH-HAUL® Bike Rack? (circle appropriate response)

a. Durability e. Received as a Gift i. Other
b. Warranty f. Masterbuilt Reputation
c. Special Offer g. Value for Price
d. Special Features h. Experience with Masterbuilt products

How many products of this type do you currently own?

Where have you read or heard about our products? (Circle appropriate response)
a. Store Display d. Television Advertisement g. Internet
b. Magazine Advertisement e. Personal Recommendation h. Other

c. Newspaper Advertisement  f. Salesperson’s Recommendation



